1 [ 3 [ 4 [ 5 I
+3V3
PWR_FLAG +3V3
T L Pl
10732 () c1 2
PWR_FLAG 3L L4 Gvrocoo) 10uF 10uF
(G - S N
LE 48 @em
GND
GND o \,’;‘ cs
1 u1 S 39 1PSE5185% b
10732 (woom Zoy
sl 44 o §§
5 46x S GND GND
Wio)—L - o8 (EE WAKEUP vcom |15
PWRUP VCOM_CTRL 0Q 3
PWR_GOQD VCOM_DIS 5
= = C10 4. 70F  ©
o VCOM_PWR L& $ |- =
SCL D1 GND
18 26 v C11 )4 7uF \ ©
SDA SDA VN NRvB130LL “-7UH? | PWR_FLAG
21 T VN_sw (22 C12)|4.70F \ © <>
" J NRVBL30 vs— P = @
VB 02 L2 2.2uH 131 100 - o
vB_sw [0 S
o
1y h7uf 08
YA :g C15 ) 4.70F 2
VPOS_IN Y =z
vPOs_DIs L2 A2 | I 2
= 5 c16 Iqu[ o
3 O
VNEG
PWR_FLAG
VNEG_IN zg, 7 — C17“L¢.7uFE % =
NEG_DIS P 5 AN
voDH.D B4d L mﬂFo DSNRVBI30 o D6 NRVBL30 a1 s
VDDH_DRV 38 ! 1IMQ 1% 4.7uF
VDDH_FB 23
VDDH_IN R8 00 R12
VDDH_DIS (2 A 47.5kQ 1% GND
= Chp01uF | ©
O
veep pod 1 D3 NRVB130, D) NRVB130 o P
VEE_DRV |28 1| 1IMQ 1% 4.7uF GND
VEE_FB PL
VEE_IN {22 R6 00 R10
VEE_DIS {22 52.3kQ 1% GOND VODH
PWR_FLAG Feedback voltage: 0.998 V
V3P3 0.998 = v*(x/(10000000 + x))
GND For 22 V (ED060SCA): 47519 = 47.5k
VREF
INT_LDO
8 VEE
- & - o 4.7uF 4.7uF 4.7uF Feedback voltage: —0.994 V
R © -0.994 = v*(x/(10000000 + x))
5565565 @ a For —20 V (ED060SC4): 52299 = 52.3k
<< OO0 o w
CECER B GND
~
GND
Sheet: /
File: tps65185—-mad.sch
Title:
Size: USletter | Date: Rev:
KiCad E.D.A. kicad 5.1.7—a382d34a888ubuntul18.04.1 Id: 1/1

| [

I 5 I




